

# **Bid Evaluation Report**

Tender Ref: NO.SHC/BUDGET/TENDER/2024-25/XI/Consolidated Tender

Tender for the Comprehensive Procurement and Installation of Equipment, Furnishings, and Systems for the High Court of Sindh (Principal Seat at Karachi, Bench at Sukkur and Circuit Court, Hyderabad), including Air Conditioners, Generators, CCTV, Audio-Visual Solutions, Furniture, Copy Printer Machine, LED Displays, Video Conferencing Equipment and Staff Uniforms, on a Lot-wise Basis.

#### LOT NO. 2:

# PROCUREMENT OF FURNITURE AND FIXTURES FOR THE HIGH COURT OF SINDH, KARACHI

Bid Opening Date: Saturday, May 31, 2025 at 11.00 a.m.

Location of Bid Opening: Office of the Director General (Finance & Accounts)

BER prepared on Monday, June 2, 2025.

I/C Director General (Finance & Accounts)/

Chairman (Procurement Committee)

Deputy Registrar (Accoun

(Member-PC)

SYED MUHAMMAD MUTI-UR-REHMAN Deputy Secretary/ Nominee of Law, PA & CP

Department, Govt. of Sindh (Member-PC)

#### **★** BID EVALUATION REPORT

# LOT NO. 2: PROCUREMENT OF FURNITURE AND FIXTURES

#### 1. Introduction

The procurement process for Lot No. 2: Furniture and Fixtures for the High Court of Sindh, Karachi, was initiated to support the smooth operation of the Court's administrative and judicial functions. The procurement was carried out through Open Competitive Bidding (Single Stage – One Envelope Procedure) in accordance with the Sindh Public Procurement Rules, 2010 (SPPRA). The tender was publicly opened on Saturday, May 31, 2025 at 11:00 a.m. in the office of the Director General (Finance and Accounts) at the High Court of Sindh, Karachi.

Two bidders participated in this process: M/s Fast Link Supply Agency and M/s Al Mustafa Pak Traders, who submitted their bids for Lot No. 2: Procurement of Furniture and Fixtures.

#### 2. Bidders Participated in Lot No. 2

#### S. No. Name of Bidder

- M/s Fast Link Supply Agency
- 2 M/s Al Mustafa Pak Traders

3. Mandatory Qualification Criteria Evaluation

S. No.	Criteria Description	M/s Fast Link Supply Agency	M/s Al Mustafa Pak Traders	
1	Complete (every page) filled, signed & stamped Tender Document	✓ Compliant	✓ Compliant	
2	Registration with Tax/Regulatory Authorities (FBR/NTN/GST/Active Taxpayer)	✓ Compliant	✓ Compliant	
3	Sole Distributor/Authorized Reseller/Manufacturer (Authorization Letter)	X Not Compliant (Missing authorization)		
4	At least Two Relevant Purchase Orders	✓ Compliant	✓ Compliant	
5	Affidavit/Undertaking (Not Blacklisted)	✓ Compliant	✓ Compliant	
6	Average Annual Turnover ≥ Rs. 5 Million (Last 3 Years)	✓ Compliant		
7	Technical Bid on Letterhead with Brochures/Technical Data	✓ Compliant	✓ Compliant	

# Observation:

 M/s Fast Link Supply Agency failed to submit a Manufacturer/Authorization Letter as required in the eligibility criteria. Therefore, they are deemed noncompliant for Lot No. 2 under the mandatory requirements.

Item No.	Description	M/s Fast Link Supply Agency	M/s Al Mustafa Pak Traders
2(a)	Steel Cabinets	Compliant	Compliant
2(b)	Wooden Centre Table (with Glass Top)	Compliant	Compliant
2(c)	Wooden Partition	Compliant	Compliant
2(d)	Computer Tables	Compliant	Compliant
2(e)	Executive Revolving Chair	Compliant	Compliant
2(f)	Revolving Chair (for Office Use)	Compliant	Compliant
2(g)	Visiting Chair	Compliant	Compliant
2(h)	Silver Mace	Compliant	Compliant

Item No.	Description	Qty	M/s Fast Link Supply Agency		M/s Al Mustafa Pak Traders	
			Unit Rate (Incl. of all Taxes)	Total Amount	Unit Rate (Incl. of all Taxes)	Total Amount
2(a)	Steel Cabinets	12	33,630	403,560	38,000	456,000
2(b)	Wooden Centre Table (with Glass Top)	4	28,910	115,640	28.000	112,000
2(c)	Wooden Partition	6	45,430	272,580	58,000	348,000
2(d)	Computer Tables	12	46,610	559,320	42,000	504,000
2(e)	Executive Revolving Chair	22	113,870	2,505,140	62,000	1,364,000
2(f)	Revolving Chair (for Office Use)	20	99,710	1,994,200	56,000	1,120,000
2(g)	Visiting Chair	20	44,840	896,800	42,000	840,000
2(h)	Silver Mace	12	35,840	431,880	48,500	582,000
Grand Total			7,179,120		5,326,000 Lowest	

### **■** 6. Bid Securities (5%)

Bidder

Bid Security Amount (Rs.)

M/s Fast Link Supply Agency 359,000

M/s Al Mustafa Pak Traders 290,000

#### 7. Final Recommendations

Based on the evaluation of Mandatory Qualification, Technical Compliance, Bid Securities, and Financial Comparison, the Evaluation Committee concludes as follows:

#### ✓ Recommended Bidder for Award:

• M/s Al Mustafa Pak Traders is the lowest evaluated, responsive, and compliant bidder for Lot No. 2: Procurement of Furniture and Fixtures, with a total bid amount of Rs. 5,326,000 (inclusive of all taxes).

#### X Non-Responsive Bidder:

• M/s Fast Link Supply Agency is non-compliant due to failure to submit the Manufacturer/Authorization Letter, as per the mandatory eligibility criteria.

Note: High Court of Sindh reserves the right to increase or decrease the quantities of any or all items.

I/C Director General (Finance & Accounts)/

Chairman (Procurement Committee)

Deputy Registrar (Accounts)/

(Member-PC)

SYED MUHAMMAD MUTI-UR-REHMAN Deputy Secretary/ Nominee of Law, PA & CP

Department, Govt. of Sindh (Member-PC)